

①  $\lim_{x \rightarrow 0} \frac{(1+x)^3}{1+x^2} = e = e^{-\frac{2}{3}}$   
 (VLSF(S) spoj.  $\exp \approx 1 - \frac{2}{3}$ )  
 $A = \lim_{x \rightarrow 0} \frac{\log(\cdot)}{(\cdot)-1} \cdot \frac{(\cdot)-1}{\sqrt{x^2+1}-\cos x} \stackrel{AL}{=} \lim_{x \rightarrow 0} \frac{1+x^3-(1+x^2)}{1+x^2} \cdot \frac{\sqrt{x^2+1}+\cos x}{x^2+1-\cos x} \cdot x^2 = 2 \lim_{x \rightarrow 0} \frac{x^2(x-1)}{x^2(1+\frac{1-\cos x}{x^2}(1+\cos^3 x))}$   
 $\stackrel{AL}{=} 2 \cdot \frac{-1}{1+\frac{1}{2} \cdot 4} = -\frac{2}{3}$ ; (\*) VLSF(P),  $F(y) = \frac{\log y}{y-1} \xrightarrow{y \rightarrow 1} 1$ ;  $y = (\cdot) = \frac{1+x^3}{1+x^2} \xrightarrow{x \rightarrow 0} 1$   
 $1 \in \mathbb{R} \Rightarrow x = x \in \mathbb{R} \Rightarrow x \in (0, 1)$   
 $\Rightarrow (\cdot) \neq 1: x \in (-1, 1) \setminus \{0\}$

②  $\lim_{x \rightarrow 1} \frac{4^{2^x} - 16}{\sqrt{1-\cos(2\pi x)}} = \lim_{x \rightarrow 1} 16 \cdot \frac{4^{2^x-2} - 1}{\sqrt{1-\cos(2\pi x)}} \stackrel{AL}{=} \lim_{x \rightarrow 1} \frac{e^{\log 4(2^x-2)} - 1}{\log 4(2^x-2)} = \log 4 \cdot \frac{e^{\log 2(x-1)} - 1}{\log 2(x-1)}$   
 $\log 2(x-1) \cdot \sqrt{\frac{(2\pi(x-1))^2}{1-\cos(2\pi(x-1))}} \cdot \frac{1}{2\pi|x-1|} = \lim_{x \rightarrow 1} 32 \log 2 \cdot \log 4 \cdot \sqrt{2} \cdot \frac{x-1}{|x-1|}$   
 $\Rightarrow \lim_{x \rightarrow 1} \frac{4^{2^x} - 16}{\sqrt{1-\cos(2\pi x)}} = \pm 16\sqrt{2} \log(2) \log(4) / \pi \Rightarrow \text{limita neel.}$   
 (\*) VLSF(P):  $F(y) = \frac{e^y - 1}{y} \xrightarrow{y \rightarrow 0} 1$ ;  $y = \log 4(2^x - 2) \xrightarrow{x \rightarrow 1} 0$   
 $\uparrow$  polonómia  $\Rightarrow$  (P)  
 (\*\*\*) VLSF(P):  $y = \log 2(x-1) \xrightarrow{x \rightarrow 1} 0$ ;  $x \neq 0: x \in \mathbb{R} \setminus \{1\}$   
 (\*\*\*) VLSF(S):  $\lim_{x \rightarrow 1} \frac{4^{2^x} - 16}{\sqrt{1-\cos(2\pi x)}} = \lim_{x \rightarrow 1} \frac{4^{2^x} - 16}{1-\cos(2\pi x)}$   
 VLSF(P):  $F(y) = \frac{y^2}{1-\cos y} \xrightarrow{y \rightarrow 0} 2$ ;  $y = 2\pi(x-1) \xrightarrow{x \rightarrow 1} 0$   
 $\neq 0: x \in \mathbb{R} \setminus \{1\}$

③  $\lim_{x \rightarrow 0} \frac{\sqrt{1+\cos x} \log(\cos x) - \sqrt{1+\log(\cos x)}}{\sqrt[3]{\log x} - \sqrt{\sin x}} \cdot \frac{\sqrt[3]{x}}{\sin^2 x} = \lim_{x \rightarrow 0} \frac{\log(\cos x)(\cos x - 1)^2}{\cos x - 1} \cdot \frac{x^2}{\sin^2 x} \cdot \frac{x^2}{\sqrt{1+\log(\cos x)}}$   
 $\stackrel{AL}{=} \frac{3}{8} \lim_{x \rightarrow 0} \frac{x^3}{\sin^3 x} \cdot \frac{1-\cos x}{x^2} = \frac{3}{8} \cdot \frac{1}{1} \cdot \frac{1}{2} = \frac{3}{16}$   
 $\uparrow$   $\frac{\sin x}{\cos x} - \sin x$   
 kor. k 3 (VLSF(S) spoj.  $\sqrt[3]{10}$ )

④  $\lim_{x \rightarrow 0} \frac{1-\cos x \cos^2 x \cos^3 x}{1-\cos x} = \lim_{x \rightarrow 0} \frac{1-\cos x + \cos x - \cos x \cos^2 x + \cos x \cos^2 x - \cos x \cos^2 x \cos^3 x}{1-\cos x}$   
 $\lim_{x \rightarrow 0} \frac{1-\cos^2 x}{1-\cos x} + \cos x \cos^2 x \cdot \frac{1-\cos^3 x}{1-\cos x} \stackrel{AL}{=} 1 + \lim_{x \rightarrow 0} \frac{x^2}{1-\cos x} \cdot \frac{1-\cos^3 x}{(2x)^2} \cdot 4 + \lim_{x \rightarrow 0} \frac{x^2}{1-\cos x} \cdot \frac{1-\cos^3 x}{(3x)^2} \cdot 9$   
 $\stackrel{AL}{=} 1 + 2 \cdot \frac{1}{2} \cdot 4 + 2 \cdot \frac{1}{2} \cdot 9 = 14$   
 (\*) VLSF(P)  $F(y) = \frac{1-\cos y}{y^2} \xrightarrow{y \rightarrow 0} \frac{1}{2}$ ;  $y = ax \xrightarrow{x \rightarrow 0} 0$   
 $\neq 0: x \in \mathbb{R} \setminus \{0\}$

$$\textcircled{5} \lim_{x \rightarrow 1} \frac{\sin^2(\pi 2^x)}{\log(\cos(\pi \cdot 4^x))} = \lim_{x \rightarrow 1} \frac{\sin^2(\pi(2^x-2))}{(\pi(2^x-2))^2} \cdot 4\pi^2 \cdot \left( \frac{e^{\log 2(x-1)} - 1}{\log 2(x-1)} \right)^2 \cdot \log^2 2(x-1)^2$$

$$\frac{\cos() - 1}{\log(\cos(\pi(4^x-4)))} \cdot \frac{()^2}{\cos() - 1} \cdot \frac{1}{\pi^2 \cdot 16} \cdot \left( \frac{e^{\log 4(x-1)} - 1}{\log 4(x-1)} \right)^2 \cdot \left( \frac{\log 4(x-1)}{e^{\log 4(x-1)} - 1} \right)^2$$

$$\frac{1}{\log^2 4(x-1)^2} = -\frac{1}{8}$$

(\*) VLSF(P) F(y) =  $\frac{\sin y}{y} \xrightarrow{y \rightarrow 0} 1; y = \pi(2^x-2) \xrightarrow{x \rightarrow 1} 0$   
 (L'Hôpital)  $\Rightarrow$  (P)

(\*\*) VLSF(P) F(y) =  $\frac{e^y - 1}{y} \xrightarrow{y \rightarrow 0} 1; y = \log 2(x-1) \xrightarrow{x \rightarrow 1} 0$   
 $\neq 0; x \in \mathbb{R} \setminus \log$

(+) VLSF(P) F(y) =  $\frac{2^y - 1}{\log y} \xrightarrow{y \rightarrow 1} 1; y = \cos() \xrightarrow{x \rightarrow 1} 1 \in () \rightarrow 0$   
 $() = \pi(4^x - 4) \neq 0; x \in \mathbb{R} \setminus \log; () \rightarrow 0 \Rightarrow \exists \delta > 0:$   
 $x \in (-\delta, \delta): () \neq 2k\pi, k \neq 0 \Rightarrow x \in (-\delta, \delta) \setminus \log;$   
 $\cos() \neq 1 \Rightarrow (P).$

(++) VLSF(P) F(y) =  $\frac{2^y - 1}{e^y - 1} \xrightarrow{y \rightarrow 0} 1; y = \log 4(x-1) \xrightarrow{x \rightarrow 1} 0$   
 (L'Hôpital)  $\Rightarrow$  (P)

(+++ VLSF(P) F(y) =  $\frac{2^y}{\cos y - 1} \xrightarrow{y \rightarrow 0} -2; y = () = \pi(4^x - 4) \xrightarrow{x \rightarrow 1} 0$   
 $\neq 0; x \in (-\delta, \delta) \setminus \log$

$$\textcircled{6} \lim_{x \rightarrow 0} \frac{(\cos x)^x - \sqrt{1 + \sin^3 x}}{x^3} \stackrel{AL}{=} \lim_{x \rightarrow 0} \frac{(\cos x)^x - 1}{x^3} + \lim_{x \rightarrow 0} \frac{1 - \sqrt{1 + \sin^3 x}}{x^3} = \lim_{x \rightarrow 0} \frac{e^{x \log(\cos x)} - 1}{x \log(\cos x) \cdot x^2}$$

$$x \cdot \frac{\log(\cos x)}{\cos x - 1} \cdot \frac{\cos x - 1}{x^2} \cdot x \cdot \frac{1}{x^3} + \lim_{x \rightarrow 0} \frac{-\sin^3 x}{x^3} \cdot \frac{1}{1 + \sqrt{1 + \sin^3 x}}$$

$$= -\frac{1}{2} + (-\frac{1}{2}) = -1$$

(\*) VLSF(P) F(y) =  $\frac{e^y - 1}{y} \xrightarrow{y \rightarrow 0} 1; y = x \log(\cos x) \xrightarrow{x \rightarrow 0} 0$   
 $\neq 0; x \in \mathbb{R} \setminus \log$   
 $x \in (-\frac{\pi}{2}, \frac{\pi}{2}) \setminus \log$

$$\textcircled{7} \lim_{x \rightarrow 1} \frac{x^{x-1} + \sqrt{\cos \pi x}}{\log^2 x} \stackrel{AL}{=} \lim_{x \rightarrow 1} \frac{(x-1)^2}{\log^2 x} \cdot \frac{1}{(x-1)^2} \cdot \left( \frac{e^{(x-1) \log x} - 1}{(x-1) \log x} \right)^2 \cdot \left( \frac{\log x}{x-1} \right)^2 \cdot (x-1)^2$$

$$\frac{1 - \cos(\pi(x-1))}{(\pi(x-1))^2} \cdot \frac{\pi^2(x-1)^2}{(1 + \sqrt{\cos \pi(x-1)})^2} \stackrel{AL}{=} 1 + \frac{\pi^2}{6}$$

VOCIFRAM CHYBA

⑧ Pozn:  $\lim_{L \rightarrow 0+} (\log L) L^B = 0 : B > 0 \Leftarrow$  substituce  $L = \frac{1}{y}$  a škola nebo l'Hospital.

$$\lim_{L \rightarrow 0+} \frac{\log L}{\frac{1}{L^B}} \stackrel{\infty/\infty}{=} \lim_{L \rightarrow 0+} \frac{1}{-B L^{-B-1}} = \lim_{L \rightarrow 0+} -B L^B = 0$$

$$\lim_{x \rightarrow 0+} (e^x - 1)^{\frac{\log^2 x}{x^2}} = e^A$$

$$A = \lim_{x \rightarrow 0+} \log(e^x - 1) \frac{\log^2 x}{x^2} = \begin{cases} -\infty : d=2 \\ -\infty : d > 2 \\ (*) : d < 2 \end{cases}$$

$$(*) = \lim_{x \rightarrow 0+} \underbrace{\log(e^x - 1)}_{\downarrow 0} \cdot \underbrace{(e^x - 1)^{2-d}}_{\downarrow (+)} \cdot \underbrace{\frac{\log^2 x}{x^2}}_{\downarrow 1} = 0$$

$$(**) F(z) = \log z \cdot z^{2-d} \rightarrow 0 : z \rightarrow 0$$

$z = e^x - 1 \rightarrow 0$   
 $x \rightarrow 0$   
 $x_0 : x \in \mathbb{R} \setminus \{0\}$

$\nwarrow$  Pozn.

$$(*) \text{ Pozn} = \text{VLSF}(S) \text{ spoj. } \alpha \text{ v bodě } 1, \frac{z^x}{e^x - 1} \xrightarrow{x \rightarrow 1} 1$$

$1^\alpha = 1.$